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Bo not write beyond thig border.
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Do not wrile beyond this border.

“os

e polar curves v =3 and r = 3 — 26in(28) are shown in the figure sbove for 0 £ # £ 7,

2. The graphs of
(5) Let & be the shaded region that is inside the graph of » = 3 and inside the graph of r = 3 - Zsin(28}. Find
the ares of K.
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LI DOt e Deyond s dorder,
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(b) For the corve r = 3 — 25in{28), find the value of i at B= Z
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x = FCoS ©
= (3-15w20)(cos ©)

dx
= = -2.366

{¢) The distance betwesn the Two curves changes for 0 < & < =. Find the rate at which the distance batwesn
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the two curves is changing with respect to & when § = e,
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(d) A particle is moving along the curve r = 3 - 2sin (26} so that ffg' = 3 for all fimes ¢ 2 0. Find the valne
of E al § = % T
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